

WANSAS CORPORATION COMMISSION
OIL & GAS CONSERVATION DIVISION
OIL & GAS CONSERVATION DIVISION
Form Must Be Typed

WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 33476	API No. 15 - 163-23628-0000
Name: FIML Natural Resources, LLC	County: Rooks
Address: 410 17th Street Ste. 900	<u>SE_SE_SE_SE</u> Sec. 16 Twp. 8 S. R. 18 East West
City/State/Zip: Denver, CO. 80202	330 feet from (S) / N (circle one) Line of Section
Purchaser: NA	495 feet from (E)/ W (circle one) Line of Section
Operator Contact Person: Cassandra Parks	Footages Calculated from Nearest Outside Section Corner:
Phone: (303) 893-5090	(circle one) NE (SE) NW SW
Contractor: Name: Murfin Drilling Company	Lease Name: Williams Well #: 16D-16-818
License: 30606 CONFIDENTIAL	Field Name: No Named
Wellsite Geologist:	Producing Formation:
Designate Type of Completion:	Elevation: Ground: 1901' Kelly Bushing: 1907'
New Well Re-Entry Workover	Total Depth: 3498' Plug Back Total Depth: NA
Oil SWD SIOW Temp. Abd.	Amount of Surface Pipe Set and Cemented at 7 jts @ 307' Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from D&A
Operator:	feet depth tow/sx cmt.
Well Name:	
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan PAN 21209 (Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	Chloride content 3000 ppm Fluid volume 1200 bbls
Plug BackPlug Back Total Depth	Dewatering method used Evaporation/backfill
Commingled Docket No	
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name:
8/21/2007 8/27/2007 8/28/2007 (D&A)	Lease Name: License No.:
Spud Date or Date Reached TD Completion Date or Recompletion Date	QuarterSecTwpS. R East West County: Docket No.:
Kansas 67202, within 120 days of the spud date, recompletion, works Information of side two of this form will be held confidential for a period of 107 for confidentiality in excess of 12 months). One copy of all wireline log TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged well requirements of the statutes, rules and regulations promulgated to regu	ith the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, over or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. If 12 months if requested in writing and submitted with the form (see rule 82-3-gs and geologist well report shall be attached with this form. ALL CEMENTING IIs. Submit CP-111 form with all temporarily abandoned wells.
herein are complete and correct to the best of my knowledge.	
Signature: Lanul Ku	KCC Office Use ONLY
Title: Operations Assistant Date: 9/21/2007	Letter of Confidentiality Received
Subscribed and sworn to before me this 26 day of Stotes	/ If Denied, Yes Date:
	The state of the s
^~	Wireline Log Received
$20 \frac{0}{1}$	
20 <u>07</u> . Notary Public: Daine Winich	Geologist Report Received KANSAS CORPORATION COMM

Operator Name: FIML Natural Resources, LLC					-16-818	·				
Sec. 16 Twp. 8			✓ West	County	: Rooks					
INSTRUCTIONS: Stested, time tool ope temperature, fluid red Electric Wireline Log	n and closed, flowing covery, and flow rates	and shuts if gas to	in pressures, s surface test, a	whether sl long with f	nut-in pre	ssure reached	static level, hydro	static pressur	es, botto	m hole
Drill Stem Tests Take		₹ Ye	es 🗌 No		√ Lo	og Formati	on (Top), Depth a	and Datum		Sample
Samples Sent to Ge	ological Survey	□ Ye	es 🗌 No		Name Topel			Top 2840'		Datum 929'
Cores Taken		Ye	es 📝 No		Heeb			3052'	-	1141'
Electric Log Run		✓ Ye	es 🗌 No		Toron	to		3072'	_	1161
(Submit Copy)					Lansi	ng		3090'	-	1179'
List All E. Logs Run:					Kans	as City		3207'	-	1296'
U . U	Resolution In Spaced Neutro		; Spectral		Arbu	ckle		3341'	•	1430'
		Repo		RECORD	Ne	w Used rmediate, produc	tion, etc.			
Purpose of String	Size Hole Drilled		e Casing (In O.D.)	Wei		Setting Depth	Type of Cement	# Sacks Used		and Percent Additives
Surface	12-1/4"	8-5/8"		24.0		307'	A Common	190	2.0% ge	l & 3.0% CaCl2
			ADDITIONAL	CEMENTI	NG / SQL	JEEZE RECORI)			
Purpose:Perforate	Depth Top Bottom	Туре	of Cement	#Sacks	s Used	Used Type and Percent Additives				
Protect Casing ✓ Plug Back TD	3480-Surf	60/40 P	POZ 215			4% gel, 1/4#	Flocele			
Plug Off Zone	See details below									
Shots Per Foot PERFORATION RECORD - Bridge Plugs Set/Type					Acid, Fracture, Shot, Cement Squeeze Record					
Shois Fer Foot		<u>-</u>	Each Interval Per	forated		(A	mount and Kind of M	aterial Used)		Depth 3480'
	Plug cemented w/ 25 sks Plug cemented w/ 25 sks									1315'
	Plug cemented w/									701'
	Plug cemented w/									365'
Plug cemented w/ 10 sks. Rat hole cemented w/ 15 s				sks					40'	
TUBING RECORD Size Set At Packer At Liner Run										
Date of First, Resume	rd Production, SWD or E	inhr.	Producing Met	hod	Flowin	g Dump	ing Gas Li	ift 🔲 Ott	ner <i>(Explair</i>	n)
Estimated Production Per 24 Hours	Oil	Bbis.	Gas	Mcf	Wate	er 1	Bbls.	Gas-Oil Ratio		Gravity
Disposition of Gas	METHOD OF (COMPLETION	DN	<u> </u>		Production Inte	rval			
Vented Solo	Used on Lease submit ACO-18.)		Open Hole	Per	f. ' 🔲 (Dually Comp.	Commingled _			

24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Fax:

Voice: (785) 483-3887 (785) 483-5566 DECEIVE

INVOICE

Invoice Number: 109754

Invoice Date: Aug 23, 2007

Page:

Bill To:

FIML Natural Resources

LLÇ

410 l7th St., #900 Denver, CO 80202

Customer ID	Well Name# or Customer P.O.	Paymen	Terms
FIML	Williams #16 p-/6-8/8	Net 30 Days	
Sales Rep ID	Camp Location	Service Date	Due Date
	Russell	Aug 23, 2007	9/22/07

Quantity	Item	Description	Unit Price	Amount
190.00	MAT	Common Class A	11.10	2,109.00
4.00	MAT	Gel	16.65	66.60
6.00	MAT .	Chloride	46.60	279.60
200.00	SER	Handling	1.90	380.00
53.00	SER	Mileage 200 sx @.09 per sk per mi Surface Mileage Pump Truck Insert Centralizers Confide Shee	18.00	954.00
1.00	SER	Surface	815.00	815.00
53.00	SER	Mileage Pump Truck	6.00	318.00
1.00	EQP	Insert	335.00	335.00
3.00	EQP	Centralizers	55.00	165.00
1.00	EQP	Texas Guide Shoe	280.00	280.00
1.00	EQP	Solid Rubber Plug	100.00	100.00
		DOT137 8100-145 01 Q.Bl	RECEIVE KANSAS CORPORATION SEP 2 8 2	COMMISSION
		Man !!	CONSERVATION D WICHITA, K	IVISION

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 580.22

ONLY IF PAID ON OR BEFORE

Sep 22, 2007

Subtotal	5,802.20
Sales Tax	176.77
Total Invoice Amount	5,978.97
Payment/Credit Applied	
TOTAL	5,978.97

ALLIED CEMENTING CO., INC.

REMIT TO P.O. BORUSSI	OX 31 ELL, KA	NSAS 676	65		SERV	VICE POINT:	5-11
DATE \$22.0 7	SEC.	TWP.	RANGE	CALLED OUT	ON LOCATION	JOB START	
William S LEASE	1	11	LOCATION DA	anoille N RU	024	COUNTY	STATE
	WELL#	16	2 1/2	n Winto	/	Lev	
OLD OR NEW (Cir		7		N WINTO		_i	
CONTRACTOR	Mur	in 23	/	OWNER			
	Sarfa	1206					
HOLE SIZE). 315	CEMENT	DEDED 19	^ ~ ~	Place
CASING SIZE 8	7/2		EPTH 315	AMOUNT OF	RDERED 190	20m 3	diec
TUBING SIZE			EPTHEPTH				
DRILL PIPE TOOL			EPTH				
PRES. MAX			NIMUM	COMMON_	190	_@ [· 10	2109.00
MEAS. LINE			OE JOINT	POZMIX _		-@ 	115
CEMENT LEFT IN	VCSG	4316		GEL CHLORIDE			27960
PERFS.		17 1/1	R1	CHLORIDE		_ @ <u></u>	27170
DISPLACEMENT		1 1 1 7 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	<u> </u>				<u> </u>
	EQ	UIPMEN	ı			_ @ KCC	2
DI II ID TOLICII	CEMENI	TED /	- `			Sp 2 6 20	.070
		TER_CA				OONFIDE	PIAL
BULK TRUCK	TILLET ET	· House			···	@	
	DRIVER	2 Lucky	/			_ @	
BULK TRUCK							4
#	DRIVER	₹		—— HANDLING		@ 1.90	380,00
				MILEAGE _	.09 SK/mile		954.00
1		EMARKS	_ ,			TOTAI	3789.2C
- Cen	vent (realo	toc		CEDA	ICE	
Plug Tande	2 400	$\rho si. = 1$	nsert held-		SERV	ICE &	
Ka raseo.	Dry.	·		DEPTH OF I	IOB	r	
				PUMP TRUC	CK CHARGE	815	
				EXTRA FOO	OTAGE	@	
			1				318
			1 vant	MANIFOLD		@	
					· · · · · · · · · · · · · · · · · · ·	_ @	
CHARGE TO:	Ein 1						
						TOTA	L 1133.58
STREET							
CITY		STATE	ZIP		PLUG & FÉOA	АТ ЕОШРМЕ	NΤ
				1000	_		335,00
	e ¹			3 (2010	Insert	3 @ ss.00	
	,*			1 Texas G	adeshoe		
To Allied Cemen	nting Co	Inc		/ Solid #	257-27	<u>i</u> @ <u>100.°°</u>	
You are hereby			ementing equip	ment ———		@	
and furnish cem						@	
contractor to do	work as	is listed.	The above work	was		mom.	· ~~~ ~~
done to satisfact	tion and	supervisio	on of owner ager	nt or		IOIA	r 880 =
contractor. Jaha	ve read	& understa	and the "TERMS	S AND TAX			
CONDITIONS"	' listed o	n the reve	rse side.		1000		
		1	/)	TOTAL CH	ARGE		
	A		1 h	DISCOUNT			AID IN 30 DAYS
		nK -		/ //	7 /	1	10
SIGNATURE /	A	Jun	2 il	W G a	Doke PRIN	6206	10 5/18
5,51,11,51					→ PRIN	ITED NAME	

24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice: (785) 483-3887 Fax: (785) 483-5566

Bill To:

FIML Natural Resources

LLC

410 l7th St., #900 Denver, CO 80202 INVOICE

Invoice Number: 109864

Invoice Date: Aug 30, 2007

Page:

1 541

MECEIVEI

SEP 0 4 2007

Customer ID	Well Name# or Customer P.O.	Payment	Terms
FIML	Williams #16D-16 818	Net 30	Days
Sales Rep ID	Camp Location	Service Date	Due Date
	Russell	Aug 30, 2007	9/29/07

Quantity	Item	Description	Unit Price	Amount
129.00	MAT	Common Class A	11.10	1,431.90
86.00	MAT	Pozmix	6.20	533.20
9.00	MAT	Gel ·	16.65	149.85
54.00	MAT	Flo Seal	2.00	108.00
226.00	SER	Handling	1.90	429.40
55.00	SER	Mileage 226 sx @.09 per sk per mi	20.34	1,118.70
1.00	SER	Rotary Plug	815.00	815.00
55.00	SER	Mileage Pump Truck	6.00	330.00
1.00	EQP	Wooden Plug	35.00	35.00
		8100-190 Adam D. P&A Cont. for PS7137	CONFID	C 2007 ENTI: -

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 495.10

ONLY IF PAID ON OR BEFORE

Sep 29, 2007

•	
Subtotal	4,951.05
Sales Tax	262.41
Total Invoice Amount	5,213.46
Payment/Credit Applied	,
TOTAL	5,213.46

RECEIVED KANSAS CORPORATION COMMISSION

SEP 2 8 2007

2007 4718.36

CONSERVATION DIVISION WICHITA, KS

ALLIED CEMENTING CO., INC.

33156

SERVICE POINT: REMIT TO P.O. BOX 31 **RUSSELL, KANSAS 67665** RANGE CALLED OUT ON LOCATION 18 ainvilled POR 2W LOCATION OLD OR NEW (Circle one) **CONTRACTOR** OWNER TYPE OF JOB **CEMENT** <u>3500</u> **HOLE SIZE CASING SIZE TUBING SIZE DEPTH** DRILL PIPE TOOL PRES. MAX **MINIMUM COMMON** MEAS. LINE **POZMIX** CEMENT LEFT IN CSG. **CHLORIDE DISPLACEMENT** @ ASC 54165 @ 201b **EQUIPMENT** @ CEMENTER Conia **PUMP,TRUCK** @ 409 Adrian @ **BULK TRUCK** @ 345 DRIVER / @ BULK TRUCK @ @ 1.90 **REMARKS: SERVICE** 40.SC DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE @ 600 MILEAGE @ CHARGE TO: FIME TOTAL 1145,00 STREET _ PLUG & FLOAT EQUIPMENT To Allied Cementing Co., Inc. @ You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND CONDITIONS" listed on the reverse side. TOTAL CHARGE _ — IF PAID IN 30 DAYS